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10 REM MAIN PROGRAM

20 DIM A(s), P(6), B(6), H(, 6), D(6, 6), C(8), R(6), S(6), EE(6)
30 FOR I=1 TO ¢

40 INPUT X(I)

50 NEXT I

55 GOSUB 6000
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56

57

60

70

80

80

100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250
260
270
280
290
300

310
320

330
340
350
360
370
380
390
400
410

INPUT N

K=1

FOR I=1 TO 6

INPUT P(I)

NEXT I

B(0)-1,0

FOR I=1 TO ¢

E=0,0

FOR J=] TO I
E=E+B(I-J)sP(J])

NEXT J

B(I) =A(I) -E

NEXT I

R(1) =B(4)

R(2) =B(5) + B(4)*P (1)

R(3) =B(6) + B(5)+P (1) + B(4)*P (2)
C(0) =B(0)

C1) =B@1) -C(0)+P(1)
C(2)=B(2)-C)+P 1) - C0)«P(2)
C(3)=B(3)~C(2)#P(1)-C(1)*P(2) - C(0)+P(3)
S(1)=C(1)

5(2)=C(2)+C(1)«P(1)
S(3)=C(3)+C(2)*P(1)+ C(1)+P(2)
FOR I=1 TO 4

FOR J=1 TO 4

H(L,I)=0,0

NEXT J

NEXT 1
FOR I=1 TO 3

H(1,T) =5(I)

NEXT I

FOR 1=2 TO 3

FOR J=1 TO 3

H(L 1) =H(1-1,J+1)~-H(I-1,1)«P)
NEXT J

NEXT I

FOR 1=1 TO 3

FOR J=1 TO 3
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420 D(LI)= —H(4-1,D) o
430 NEXT J
440 NEXT I
450 GOSUB 1000
460 FOR I=1 TO 3
470 P(I)=P(I)+ R()

480 NEXT 1

490 E=ABS(R(1)) *
500 FOR I1=2TO 3

510 IF E> = ABS(R(I))THEN 530
520 E =ABS(R(I))

530 NEXT 1

540 IF E<=0,00001 THEN 560
545 K=K+1

550 GOTO g0

560 FOR I=1 TO 3

570 PRINT P¢I)

580 NEXT I

585 PRINT «K=»; K

590 GOSUB 2000

592 GOSUB 3000

593 N=N-3

594 IF N< >3 THEN 600
595 FOR I=1 TO 3

596 P(I)=A(I)

597 NEXT I

598 GOSUB 2000

599 GOTO 610

600 GOTO 57

610 END

1000 FOR K=1 TO 2

1010 E=0,0

1020 FOR I=K TO 3

1030 IF ABS(D(I,K))<=ABS(E) THEN 1060
1040 E=D(L,K)

1050 10=1I

1060 NEXT I

1070

IF I0 =K THEN 1160
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1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1130
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
1390
1400
2000
2010
2015
2020
2025

FOR J=K TO 3

T=D(X, ])

DX, ) =D(10,])

DQ,1)=T

NEXT J

T=R(K)

R(K) =R(I0)

R(10)=T

KP1=K+1

E=1,0/E

R(K) =R(K)«E

FOR J=KP] TO 3

D(K,]) =D(X,J)»E

FOR I=KP1 TO 3
D(L,J)=D(, 1) -D(L,K)+D(K,])
NEXJ I

R(J) =R(J) =RJ) - DJ,K)*R(K)
NEXT J

NEXT K

R(3)=R(3)/D(3,3)

FOR K=1TO 2

1=3-K

E=0,0

IP1=1+1

FOR J=1IP1 TO 3
E=E+D(L,])+R(])

NEXT J

R(I)=R(I)-E

NEXT K

FOR I=1TO 3

PRINT R(I)

NEXT I

RETURN -
E=P(2)~P(1)*P(1)/3
F=2,0+(P(1)/3.00A3-P(1)*P(2)/3+P(3)
PRINT 4E=» ; E, 4F=7», F
DA=F«F/4,0+ (E/3)A3
PRINT «DA =% DA
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2030 IF DA>0 THEN 2090

2040 IF DA <0 THEN 2180

2050 Y1=-SGN(F)«2,0+(ABS(F/2))A(1,0/3,0)-P(1)/3
2060 Y2=SGN(F)«(ABS(F/2))A(1,0/3,0)-P(1)/3
2070 PRINT «Y1=», Y], «Y2=7,; Y2, «Y3=7, Y2
2080 RETURN

2090 DA=SQR(DA)

2100 Wi1=-F/2+DA

2110 W2=-F/2-DA

2120 W1=SGN(W1)«(ABS(W1))A(1,0/3,0)

2130 W2 =SGN(W,)«(ABS(W,))A(1,0/3,0)

2140 PRINT «Y1=7, W, +W,-P(1)/3

2150 PRINT «Y,R=7; —0,5#(W,+W,)-P(1)/3,0, 4Y,I=7 3 SQR(3)s(W,-W,)/2
2160 PRINT «Y,R=7 -0.5%(W, +W,)-P(1)/3,0, “YyI=”» SQR(3)'(W2‘W1)/2
2170 RETURN

2180 W =SQR(-E/3)

2190 T=SQR(-(E/3)A3)

2195 IF F=0,0 THEN 2205

2200 CC= —-F/(2+T)

2202 GOTQ 2210

2205 AF =3,141592653/2

2206 GOTO 2220

2210 AF = ATN(SQR(1 - CC#CC)/CC)

2220 Y1=COS(AF/3)

2230 PRINT «Y1=7, 2 0«Y1-W-P(1)/3

2240 Y,=COS((AF +2+3,141592653)/3)

2250 PRINT «Y,=7 ; 2, 0+Y,«W-P(1)/3

2260 Y,=COS(CAF +4#3,141592653)/3)

2270 PRINT «Y3=", 2, 0+Y,«W-P(3)/3

2280 RETURN

3010 FOR I=1 TO ¢

3020 E=0,0

3030 FOR J=1TO 1

3040 E=E+A(I-J)eP(])

3050 NEXT J \ .

3060 A(I)=A()-E

3070 NEXT I .

3080 PRINT &uwceoun? .
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3090
3100
3110
3120
3130
6000
6010
6020
6030
6040
6050
6060

6070
6080
6090
6100
6110
6120
6130
6140
6150
6160
6170
6180
€190
6200
6210
6220
6230
6240
6250
6260
6270
6280
6290
6300
6310
6320

FOK I=1 TO ¢
PRINT A(I)

NEXT I

PRINT &xx...as?

RETURN

A(0)=1.0

A(1)=0,0 .
FOR I=]1 TO §

A(1) =A1) +X(D)

NEXT 1

A =-A1)

A(2)=0,0

FOR I=1 TO 5

EE(I)=0,0

FOR J=I+1 TO ¢

EE(I) = EE(I) + X(J)

NEXT J

EE(I) = EE(I)«X(I)

A(2)=A(2)+EE()

NEXT I

A1 =X(1)+X(2)+(—A(1) - X(1)-X(2))

A2 =X(3)#(X(1)+X(2)*»(X(4) +X(5) + X(5) + X(6))

A3 =X(4)+(X(5) +X(6))+(X(1) +X(2) + X(3)) i
A4=X(5)+X(6)*(— A1)~ X(5)-X(8)) :
A(3)=— (A1+A2+A3+A4) '

Ay =X(1)#X(2)*X(3)*(X(4)+X(5)+X(6))

A, =X(4)*X(5)»X(6)»(X(1)+X(2)+X(3))

A, =X(3)*X(5)*(X(1)+X(2))*(X(4)+X(8))

A =X(3)#X(4)#X(6)#(X(1)+X(2))
Ag=X(1)+X(2)+X(4)*(X(5)+X(6))

A(4) =X(1)X(2)+X(5)*X(6)

“A(4) = A(4)+A + A+ AL+ A+ A

A1 =X(1)*X(5)*X(6)» ((X()+X(4))*X(3) + X(2)»X(4)) .
A2=X(2)*X(3)*X(4)*(X(1)*¥(XL8) + X(6))+ X(5)*X(6)) -
A(5)=—-(A,+4,) :

Al1=1,0

FOR I1=1 TO g

Al =A1+X(D)
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6330 NEXT I

6340 A(6)=A1

6350 PRINT «*/ */, %/, */.°/."].”
6360 FOR I=¢ TO ¢

6370 PRINT A (I)

6380 NEXT I

6390 PRINT «°/ */ -.*/ %/, */.”
6100 P(1)=—(X(1)+X(2)+X(3))
6410 P(2) =X(1)*(X(2)+X(3))+X(2)*X(3)
6420 P(3) = —X(1)*X(2)*X(3)

6430 PRINT «P(1)=7; P(1)

6440 PRINT «P(2)=7,; P(2)

6450 PRINT «P(3)=7 P(3)

6460 RETURN,

8 % X W

(1) Zokws, BempkETF3, RHEREER, 2(1084), 10—19,

The Note of the Method of Cutting

a Factor of Degree m

Cal Huoying Xie LiZhi

Abstract

Ia this paper, We give a polynomial witn real coefficients f(x) We can’t cut a
factor of degree 1 from the polynomial f(x)nor can we cut a factor of degree 2 from
the polynomial f(x) But we can cut a factor of degree 3 from the polynomial f(x)
And we have made some theoretical discussions, It follows that to cut a factor of

degree m from a polynomial of degree n method has”its Sighificance Here m=<Cn/2, .



